APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager; JIM WOLFE	Page 1 of7										
Project: LOCAL ROAD TRAFFIC CALMING & ARTERIAL PE	DESTRIAN ENHANCEMENTS 2019										
Contract Number: 8315	Payment Number: 1										
DO NOT WRITE IN THIS BOX - TO BE COMPLETED	BY CITY ENGINEERING PERSONNEL ONLY										
TOTAL FROM PAGE:7	47,703.30										
LESS RETAINAGE:	2,385.17										
SUBTOTAL:	45,318.13										
LESS PREVIOUS PAYMENTS:	0.00										
CURRENT PAYMENT DUE:	\$ 45,318.13										
CONTRACTOR'S APPLICATION FOR PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents, and that the current payment is now due. CONTRACTOR: RAYMOND P. CATTELL, INC. INSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents, and that the contractor is entitled to payment for the amount certified. ONLY ONLY ONLY ONLY ONLY ONLY ONLY ONLY											
PLEASE PROVIDE THE TIME PERIOD FOR THIS PAYMENT REQU	8 7 10										
PLEASE PROVIDE THE CONTRACTOR/SUBCONTRACTORS THA											
NOTE: SIGNED PAYMENT REQUEST SHALL BE SUBMITTE PARTIAL PAYMENTS CAN BE PROCESSED EVERY T											

11877-402-200: TRAFFIC CALMING

12230-403-172: PEDESTRIAN & BIKE INFRASTRUCTURE IMPROVEMENT

12333-403-176 PBIE RRFB: S. GAMMON & GAMMON LN

12330-402-176 NTMP RRFB: MIDTOWN AND WOODS

12329-402-176 NTMP RRFB: ODANA AND SEGOE

12334-403-176: PBIE RRFB: SCHROEDER & HATHAWAY

12335-403-176: RRFB: WILLIAMSON & DICKINSON

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL. INC.

LOCAL ROAD TRAFFIC CALMING & ARTERIAL PEDESTRIAN ENHANCEMENTS 2019

CONTRACT NO. 8315

	NT NO. 1						İ				*****		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
11877-4	02-200: TRAFFIC CALMING						1						
BROWN	IING, DUTCH MILL, HIGH POINT, LAKE PO	INT, NORTH S	TAR, SPAIGH	IT, WISCONSII	N								
10701	TRAFFIC CONTROL	0.456	LUMP SUM	\$24,000.00	\$10,944.00		0.07	\$1,560.00	0.00	\$0.00	0.07	\$1,560.00	14.25%
10911	MOBILIZATION	0.456	LUMP SUM	\$24,000.00	\$10,944.00		0.07	\$1,560.00	0.00	\$0.00	0.07	\$1,560.00	14.25%
20101	EXCAVATION CUT	347.00	C.Y.	\$50.00	\$17,350.00		49.57	\$2,478.50	0.00	\$0.00	49.57	\$2,478.50	14.29%
20221	TOPSOIL	105.00	S.Y.	\$10.00	\$1,050.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20303	SAWCUT ASPHALT PAVEMENT	1,720.00	L.F.	\$3.50	\$6,020.00		352.00	\$1,232.00	0.00	\$0.00	352.00	\$1,232.00	20.47%
20322	REMOVE CONCRETE CURB & GUTTER	120.00	L.F.	\$10.00	\$1,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	525.00	S.F.	\$4.00	\$2,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20504	ADJUST VALVE CASTING	2.00	EACH	\$350.00	\$700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20701	TERRACE SEEDING	105.00	S.Y.	\$10.00	\$1,050.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21024	SILT SOCK (12 INCH) - COMPLETE (UNDISTRIBUTED)	100.00	L.F.	\$6.00	\$600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21055	INLET PROTECTION TYPE D HYBRID - COMPLETE (UNDISTRIBUTED)	10.00	EACH	\$75.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21063	EROSION MATTING, CLASS I, TYPE A - ORGANIC	105.00	S.Y.	\$10.00	\$1,050.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30131	COLD WEATHER PORTECTION OF CONCRETE SIDEWALK & DRIVE (POLYETHYLENE) (UNDISTRIBUTED)	2,000.00	S.F.	\$2.00	\$4,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30201	TYPE 'A' CONCRETE CURB & GUTTER	130.00	L.F.	\$50.00	\$6,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30205	TYPE 'E' CONCRETE CURB & GUTTER	225.00	L.F.	\$25.00	\$5,625.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30301	5 INCH CONCRETE SIDEWALK	750.00	S.F.	\$12.00	\$9,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	505.00	S.F.	\$15.00	\$7,575.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.

LOCAL ROAD TRAFFIC CALMING & ARTERIAL PEDESTRIAN ENHANCEMENTS 2019

CONTRACT NO. 8315

PAYMENT NO. 1

		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30311	CONCRETE MOUNTABLE MEDIAN ISLAND NOSE	160.00	S.F.	\$12.50	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30340	CURB RAMP DETECTABLE WARNING FIELDS	56.00	S.F.	\$40.00	\$2,240.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40102	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 2	145.00	TON	\$15.00	\$2,175.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40410	CONCRETE SPEED HUMP	1,081.00	S.Y.	\$95.00	\$102,695.00		430.24	\$40,872.80	0.00	\$0.00	430.24	\$40,872.80	39.80%
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	154.00	L.F.	\$20.00	\$3,080.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	7" STAMPED & COLORED CONCRETE	440.00	S.F.	\$12.50	\$5,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$204,148.00	1	•	\$47,703.30		\$0.00		\$47,703.30	23.37%

12230-403-172: PEDESTRIAN & BIKE INFRASTRUCTURE IMPROVEMENT

ATWOOD, GAMMON & NEW WASHBURN, GORHAM, OLIN, PACKERS, E. WASHINGTON, GREEN BIKE MARKINGS

10701	TRAFFIC CONTROL	0.226	LUMP SUM	\$24,000.00	\$5,424.00	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10911	MOBILIZATION	0.226	LUMP SUM	\$24,000.00	\$5,424.00	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60813	PAVEMENT MARKING EPOXY, CROSSWALK, 8-INCH	370.00	L.F.	\$17.50	\$6,475.00	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	1,470.00	L.F.	\$20.00	\$29,400.00	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	26.00	L.F.	\$18.00	\$468.00	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60881	PAVEMENT MARKING REMOVAL, 6-INCH	495.00	L.F.	\$3.50	\$1,732.50	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60883	PAVEMENT MARKING REMOVAL, 12-INCH	300.00	L.F.	\$4.50	\$1,350.00	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60885	PAVEMENT MARKING REMOVAL, 24-INCH	26.00	L.F.	\$11.00	\$286.00	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90003	SKID/SLIP RESISTANT PREFORMED THERMOPLASTIC PAVEMENT MARKING, RETROREFLECTIVE WHITE BIKE OR ARROW SYMBOL WITH BIKE LANE GREEN BACKGROUND	20.00	EACH	\$750.00	\$15,000.00	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90004	SKID/SLIP RESISTANT PREFORMED THERMOPLASTIC PAVEMENT MARKING, BIKE LANE GREEN	800.00	S.F.	\$32.00	\$25,600.00	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC. LOCAL ROAD TRAFFIC CALMING & ARTERIAL PEDESTRIAN ENHANCEMENTS 2019 CONTRACT NO. 8315

D	ΔV	МЕ	:NIT	· NI	า 1

PAYME	NT NO. 1	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
90005	SKID/SLIP RESISTANT PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6-INCH WHITE RETROREFLECTIVE LINE	550.00	L.F.	\$18.00	\$9,900.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$101,059.50			\$0.00		\$0.00		\$0.00	0.00%
12333-4	03-176 PBIE RRFB: S. GAMMON & GAMM	ON LN											
60812	PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH	210.00	L.F.	\$17.00	\$3,570.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	180.00	L.F.	\$20.00	\$3,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	22.00	L.F.	\$18.00	\$396.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60881	PAVEMENT MARKING REMOVAL, 6-INCH	140.00	L.F.	\$3.50	\$490.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60885	PAVEMENT MARKING REMOVAL, 24-INCH	22.00	L.F.	\$11.00	\$242.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60886	PAVEMENT MARKING REMOVAL, 4" DOUBLE LINE	15.00	L.F.	\$4.00	\$60.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90002	PAVEMENT MARKING EPOXY, YIELD LINE (3' X 2' TRIANGLE)	15.00	EACH	\$85.00	\$1,275.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$9,633.00			\$0.00		\$0.00		\$0.00	0.00%
12330-4	02-176 NTMP RRFB: MIDTOWN AND WOO	DDS											
10701	TRAFFIC CONTROL	0.080	LUMP SUM	\$24,000.00	\$1,920.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10911	MOBILIZATION	0.080	LUMP SUM	\$24,000.00	\$1,920.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20101	EXCAVATION CUT	30.00	C.Y.	\$50.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20303	SAWCUT ASPHALT PAVEMENT	270.00	L.F.	\$3.50	\$945.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30205	TYPE 'E' CONCRETE CURB & GUTTER	270.00	L.F.	\$25.00	\$6,750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30311	CONCRETE MOUNTABLE MEDIAN ISLAND NOSE	150.00	S.F.	\$12.50	\$1,875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40102	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 2	10.00	TON	\$15.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60801	PAVEMENT MARKING EPOXY, DOUBLE LINE, 4-INCH	220.00	L.F.	\$5.00	\$1,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.

LOCAL ROAD TRAFFIC CALMING & ARTERIAL PEDESTRIAN ENHANCEMENTS 2019

CONTRACT NO. 8315

PAYMENT NO. 1

PATIVIE	NT NO. 1	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
60802	PAVEMENT MARKING EPOXY, LINE, 6- INCH	450.00	L.F.	\$3.75	\$1,687.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	470.00	L.F.	\$20.00	\$9,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60881	PAVEMENT MARKING REMOVAL, 6-INCH	600.00	L.F.	\$3.50	\$2,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60886	PAVEMENT MARKING REMOVAL, 4" DOUBLE LINE	110.00	L.F.	\$4.00	\$440.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	7" STAMPED & COLORED CONCRETE	500.00	S.F.	\$12.50	\$6,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$36,037.50	•	•	\$0.00	•	\$0.00	•	\$0.00	0.00%
12329-4	02-176 NTMP RRFB: ODANA AND SEGOE												
10701	TRAFFIC CONTROL	0.238	LUMP SUM	\$24,000.00	\$5,712.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
10911	MOBILIZATION	0.238	LUMP SUM	\$24,000.00	\$5,712.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20101	EXCAVATION CUT	100.00	C.Y.	\$50.00	\$5,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20221	TOPSOIL	40.00	S.Y.	\$10.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20303	SAWCUT ASPHALT PAVEMENT	630.00	L.F.	\$3.50	\$2,205.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20322	REMOVE CONCRETE CURB & GUTTER	100.00	L.F.	\$10.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	450.00	S.F.	\$4.00	\$1,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20501	ADJUST SEWER ACCESS STRUCTURE	1.00	EACH	\$500.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20504	ADJUST VALVE CASTING	2.00	EACH	\$350.00	\$700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
20701	TERRACE SEEDING	40.00	S.Y.	\$10.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
21063	EROSION MATTING, CLASS I, TYPE A - ORGANIC	40.00	S.Y.	\$10.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30201	TYPE 'A' CONCRETE CURB & GUTTER	100.00	L.F.	\$50.00	\$5,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30205	TYPE 'E' CONCRETE CURB & GUTTER	500.00	L.F.	\$25.00	\$12,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30301	5 INCH CONCRETE SIDEWALK	550.00	S.F.	\$12.00	\$6,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	325.00	S.F.	\$15.00	\$4,875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.

LOCAL ROAD TRAFFIC CALMING & ARTERIAL PEDESTRIAN ENHANCEMENTS 2019

CONTRACT NO. 8315 PAYMENT NO. 1

PAYME	NT NO. 1						1				*****		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30311	CONCRETE MOUNTABLE MEDIAN ISLAND NOSE	250.00	S.F.	\$12.50	\$3,125.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
30340	CURB RAMP DETECTABLE WARNING FIELDS	52.00	S.F.	\$40.00	\$2,080.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40102	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 2	20.00	TON	\$15.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	100.00	L.F.	\$10.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60230	FURNISH & INSTALL 2 INCH PVC (SCHEDULE 80) CONDUIT	50.00	L.F.	\$20.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60261	ELECTRICAL TRENCH	50.00	L.F.	\$20.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60407	CONSTRUCT LB-8 BASE	1.00	EACH	\$1,500.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60411	CONSTRUCTION TYPE "G" BASE	3.00	EACH	\$1,175.00	\$3,525.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60802	PAVEMENT MARKING EPOXY, LINE, 6-INCH	1,100.00	L.F.	\$3.75	\$4,125.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60803	PAVEMENT MARKING EPOXY, LINE, 8-INCH	325.00	L.F.	\$5.00	\$1,625.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60809	PAVEMENT MARKING EPOXY, DIAGONAL LINE, 6-INCH	40.00	L.F.	\$13.00	\$520.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60812	PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH	250.00	L.F.	\$17.00	\$4,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	375.00	L.F.	\$20.00	\$7,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	50.00	L.F.	\$18.00	\$900.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60823	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE	3.00	EACH	\$255.00	\$765.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60824	PAVEMENT MARKING EPOXY, SYMBOL, BIKE STRAIGHT ARROW	1.00	EACH	\$255.00	\$255.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60829	PAVEMENT MARKING EPOXY, SYMBOL, LEFT ARROW	1.00	EACH	\$515.00	\$515.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60830	PAVEMENT MARKING EPOXY, SYMBOL, RIGHT ARROW	1.00	EACH	\$515.00	\$515.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60834	PAVEMENT MARKING EPOXY, WORD, ONLY	1.00	EACH	\$525.00	\$525.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60815	PAVEMENT MARKING EPOXY, CROSSWALK, 18-INCH (18" LINE, 18" GAP)	65.00	L.F.	\$20.00	\$1,300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60881	PAVEMENT MARKING REMOVAL, 6-INCH	650.00	L.F.	\$3.50	\$2,275.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60882	PAVEMENT MARKING REMOVAL, 8-INCH	125.00	L.F.	\$4.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.

LOCAL ROAD TRAFFIC CALMING & ARTERIAL PEDESTRIAN ENHANCEMENTS 2019

CONTRACT NO. 8315

PAYMENT NO. 1

PAYME	NT NO. 1										******		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
60885	PAVEMENT MARKING REMOVAL, 24-INCH	20.00	L.F.	\$11.00	\$220.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60886	PAVEMENT MARKING REMOVAL, 4" DOUBLE LINE	425.00	L.F.	\$4.00	\$1,700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60889	PAVEMENT MARKING REMOVAL, SYMBOL, BIKE LANE	3.00	EACH	\$85.00	\$255.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	7" STAMPED & COLORED CONCRETE	1,000.00	S.F.	\$12.50	\$12,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$106,579.00			\$0.00		\$0.00		\$0.00	0.00%
12334-4	03-176: PBIE RRFB: SCHROEDER & HAT	HAWAY											
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	308.00	L.F.	\$20.00	\$6,160.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60881	PAVEMENT MARKING REMOVAL, 6-INCH	130.00	L.F.	\$3.50	\$455.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$6,615.00			\$0.00		\$0.00		\$0.00	0.00%
12335-4	03-176: RRFB: WILLIAMSON & DICKINSC)N											
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	= 270.00	L.F.	\$20.00	\$5,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
60881	PAVEMENT MARKING REMOVAL, 6-INCH	168.00	L.F.	\$3.50	\$588.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$5,988.00			\$0.00		\$0.00		\$0.00	0.00%
CONTR	ACT TOTALS				\$470,060.00			\$47,703.30	<u>-</u>	\$0.00		\$47,703.30	- 10.15%